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Student Name:  ___________________________________
Period:  _________

Grid Number of Sample Area:  ______________

Sample Biometry Activity

Objectives:  TSWBAT

· determine the canopy coverage in an area.

· determine the ground coverage of an area.

· determine the circumference of a tree.

· determine the height of a tree.

Procedure:

1) Locate the area that your group was assigned.

2) Go to the exact center (use either line-of-sight or measure) .

a) Use the densiometer to record the canopy coverage.  If more than 50% of the sky has canopy mark (Y) for yes, otherwise mark (N) for no.

b) Each time you record the canopy coverage check ground coverage.  Ground coverage is what living plants are touching your feet or lower legs (count dead leaves or needles as None).  If it is green mark (G) in the ground, if it is brown mark (B), or if it is none mark (N).  If it is a combination of G and B pick the most dominant type.

3) Go to one of the corners and record the canopy and ground coverage.  Also record the location (Use the name the next diagonal grid).  Head for the opposite corner recording the canopy coverage and ground coverage every 3 meters (Use your average step length to determine where to make your readings).  The diagonal is 14.14m so you should get about 4 or 5 readings on each axis.  Now do the other axis and record in the data table.

4) Find the circumference for each tree with a circumference larger than your wrist.  Make sure you record the circumference in the unit of the measuring tape.  If you are using an English measuring tape record the circumference in English units and convert to metric later.

5) For each tree with a circumference 50 cm (.5 m) or larger, determine the height of the tree.

a) Go away from the tree about the same distance as the height of the tree.  Measure the distance from the tree and record (HINT:  If using an English tape make sure you adjust your distance to be on a whole number of feet).

b) Use the inclinometer to determine the angle to the top of the tree and record.

c) Use the tangent table on the back of the inclinometer to determine the tangent and record in the tan column.

d) Multiply the distance times the tangent to get the height.  If you are using an English tape, convert the height into meters by multiplying the height by 0.3048 and record in the Height (m) column.

e) Add the Eye Height to the Height to get the Total Height (m).

Data Table 1:

Coordinates
Distance

(m)
Canopy

(Y or N)
Ground Coverage

(B,G, or N)

Center
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Data Table 2:

Tree
Circumference
(
Tan
Distance
Height
Height (m)
Eye Height (m)
Total Height (m)
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Data Analysis:

1.
What is the average height of the larger trees (> 50 cm) in your quadrant?

2.
What percent of forest canopy do you have in your quadrant?

3.
What percent of each type (green, brown, and none) of ground cover do you have in your quadrant?
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